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Wi5-Lesson 7

Edwin huilds rectangular planters.

1. Edwin's first planter is 6 feet long and 2 feet wide. The container is filled with soil to a height of 3 feet in
the planter. What is the volume of soil in the planter? Explain your work using a diagram.

Volume = length X width x height
V=6ft x2ft x3ft =36f°

3L

the volume of soil in the plonter is 36 cubic feet.

| draw a rectangular prism and | can multiply the length, width, and height of the
labet all the given information. soil to find the volume of the soil in the planter.

In orderto have a volume of 50 cubic feet, | have to think of different factors that [ can
multiply to get 50. Since volume is three-dimensional, 1 will have to think of 3 factors.

2. Edwin wants to grow some flowers in two planters. He wants each planter to have a volume of 50 cubic
feet, but he wants them to have different dimensions. Show two different ways Edwin can make these
planters, and draw diagrams with the planters’ measurements on them.

Planter A I need to think of 3 factors that give a product of 50. ]
2t
Volume=Ixwxh
5ft V =5ftx5ftx2ft=>501t3
5ft
\ I can verify my answer by finding the volume
| draw a rectangular prism and for Planter A. The answer is 50 cubic feet.

label it as 5 feet by 5 feet by 2 feet.

Lesson 7: Solve word problems involving the velume of rectanguiar prisms with 13
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Planter 8 T | need the 3 different factors for Planter B.
I0x5x1=50
1ft
51t Vohme =Ixwxh
108t V=10ft x5ft x1ft=50f3
b A

I will draw a rectangular prism and label it
as 10 feet by 5 feet by 1 foot.

In order to have a volume of 30 cubic feet, | have to think
of three factors that give a product of 30.

3. Edwin wants to make one planter that extends from the ground to just below his back window. The

window starts 3 feet off the ground. If he wants the planter to hold 30 cubic feet of soil, name one way
he could build the planter so it is not taller than 3 feet. Explain how you know,

The volume is 30 cubic feet, and one of the dimensions must
not be more than 3 feet. So, ! will keep the height as 3 feet.

I already know the volume is 30 ft? , and
30 -39t = 10 12 the height is 3 ft, so I'll divide the volume
by the height to find the area of the base.

51t

102 =5 fEx 2 ft :
. Now that | know the area of the
Length = 5 ft base of the planter is 10 ft2, | need
Width =2 fr to think of two factors that have a
Height = 3 ft product of 10. 5 and 2 will work!

f draw a rectangular prism
and label the dimensions
Sftby 2 ftby 3 ft.

Since Edwin wants to build o ploanter with o height of 3 t and o volume of 30 12, the base of the
planter should have on ureo of 10 112, i drew o
of 3 fiL.

planter with a length of 5 Ft, wideh of 2 i, and height
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